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e E ) 4 1 2 1/MRIZRTKIERE 1
2|5RIFIR 12 1 - - [MRRETKERE 1
SIREEITR - - 4 1/NRERTKIERE 1
4| REEFE2SH - - 34 1/NRERTKIERE 1
5| Mo ARISHR 12 1 34 1/NRERTKIERE 1
6| ERYE1-25/ 11.6 1 34 2[INRERTKIERE 1
IERYE3-45R 22.5 1 10 1EERE 1
8|ER,E6- 15 22.5 1 10 1EERE 1
IERYES-9-105H 7l 125 1 - - MRRETKERE 1
10(EFE 15 '%1R - - 3.1 1/NRRETKIERE 1
1|=EfE 258/ :é - - 3.1 1/NRRETKIERE 1
12|F1E L Y 0.3 1 2 1/NRRETKIERE 1
13| /NVE 25 1 25 1/MRIEITKIERE 1
14| % 158 - - 34 1/NRERTKIERE 1
15| % 254 - - 34 1/MRERTKIERE 1
16| ¥ 351 - - 34 1/MRERTKIERE 1
17|FIEK 15 7.2 1 4.9 1/MRERTKIERE 1
18|FIE XK 25# - - 45 1/NREETKIERE 1
19| K& - - 34 1/NRRETKIERE 1
20(dh1l 2354 10.5 1 - - MRRETKERE 1




